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7 100kN/m%E#BZ5 | 1.00 | 000 ~ 035 10520 |3mEEZDH| — ~ — — — | 100kN/ %8825 | 1.00 | 1061 ~ 11.60| 10520 |3m%E#Z5 - ~ — — —
s 1.00 | 035 ~ 814 100.00 | #nst | 000 ~ 814 | 213 10.756 st 1.00 | 6.00 ~ 1061 100.00 | =nst | 6.00 ~ 1160| 2.13 10.756
2 100kN/m#E#82%5 | 1.00|0.00 ~ 0.79 111.79 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 1082 ~ 1340| 11179 |3m%E#Z5 - ~ — — —
s 1.00 | 079 ~ 857 100.00 | #nlst | 0.00 ~ 8567 | 2.08 10.49 st 1.00 | 6.00 ~ 1082 100.00 | =nst | 6.00 ~ 1340| 2.08 10.49
3 100kN/m##8x5 | 1.00 | 0.00 ~ 061 109.12 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 11.83 ~ 1430| 109.12 |3m%E#Z5 - ~ — — —
s 1.00 | 061 ~ 840 100.00 | #nlst | 0.00 ~ 840 | 1.98 9.985 st 1.00 | 6.00 ~ 1183 100.00 | =nst | 5.00 ~ 1430| 1.98 9.98
4 100kN/mM#E#BZ5 | 1.00 | 000 ~ 129 119.48 [3mZz#BZBH| — ~ — — — | 100kN/ %8825 | 1.00 | 10.77 ~ 1540| 119.48 |3m%E#Z5 - ~ — — —
s 1.00 | 1.29 ~ 9.07 100.00 | #=nlst | 0.00 ~ 9.07| 2.26 11.44 st 1.00 | 6.00 ~ 1077 100.00 | =nst | 6.00 ~ 1540 2.26 11.44
5 100kN/m#E#Z5| 100|000 ~ 217 133.64 |3m&EEZB| — ~ — — — | 100kN/ %8825 | 1.00 | 10564 ~ 1890| 133.64 |3m%E#Z5 - ~ — — —
s 1.00 | 217 ~ 995 100.00 | =nhst | 0oo ~ 995 240 1214 st 1.00 | 6.00 ~ 1054 100.00 | =nst | 5.00 ~ 1890 2.40 1214
P 100kN/mi%#82%5 | 1.00|0.00 ~ 199 130.67 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 1063 ~ 1870| 130.67 |3m%E#Z5 - ~ — — —
s 1.00 | 199 ~ 977 100.00 | #nst | 0.00 ~ 9.77 | 2.30 11.64 st 1.00 | 6.00 ~ 1063 100.00 | =nst | 5.00 ~ 1870| 2.50 11.64
- 100kN/mM##BZ5 | 1.00 | 000 ~ 029 104.31 |3mZEBAD| — ~ — — — | 100kN/ %8825 | 1.00 | 1263 ~ 1390| 104.31 |3m%E#Z5 - ~ — — —
s 1.00 | 029 ~ 808 100.00 | =nhst | 0oo ~ 808 | 1.93 977 st 1.00 | 6.00 ~ 1263 100.00 | =nst | 5.00 ~ 1390 1.93 977
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~

U3
H
M|



